1 a) 401

n: Sign and Magnitude 0 000 ..

2: 1’s Complement representation 0 000 ..

f: 2’s Complement representation 0 000 ..
1b)-32

n: Sign and Magnitude 1 000 ..

2: 1’s Complement representation 1111 ...

f: 2’s Complement representation 1111 ...

2. Integer Representation 2a3L8% -138 LWL Packed Decimal
138 = 0001 0011 1000

1101

Zoned Decimal = 1101 0001 1101 0011 1101 1000

Packed Decimal = 0001 0011 1000 1101
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3. Floating Point Representation

31
a) 75.254 0 1000010 0100 1011 0100 0000 0000 0000
b) 10111110.001001, 0 1000010 1011 1110 0010 0100 0000 0000

c) -112.374g 1 1000010 0111 0000 0101 1110 1011 1000

. 0000 0001 1001 0001
. 0000 0001 1001 0001
. 0000 0001 1001 0001

. 0000 0000 0010 0000

1111 1111 1101 1111
1111 1111 1110 0000

... 0000

... 0000



